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Psychology

Paper II

HAIaA
gyautrent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions, each carrying

[Maximum Marks : 100

Two (2) marks. Attempt A/l questions.

U SRd. @E U Wi

A : A YA TR TE (50) qguAidl TR el SA goke WAl g (2)

Choose the correct sequence that
occurs during transmission of a

nerve impulse :

(1) Action potential
(2) Refractory period
(3) Resting potential
Codes :

A 3) = (1) = (2)
B) () - (2) - 3)
€ 3 = (2 - @
M) 1) - B = (2)

The projective test that has been
used a great deal to measure

affiliation need is the :

(A) TAT

(B) MMPI

(C) Sarason Sociability Scale
(D) RIBT

AT YSOM STEeSUN AT 3T hH
IREEIE

(1) forarfava

(2) AR AT
(3) fasmafava
Hehdich :

A B) = 1) — (2
B) 1) - (2) - 3)
) B = (2 - 1)
D) 1) - QB) - (2)

AU IEUET STANT oAt d TS
g4 TS YHIUMEX hivIEE8! B,
g e

(A) HUEE THAGA =AU
(B) T =fedaa sgameen =

(C) HREA= HHSISeTdT HII=t

(D) eitar=l vmeen fousR=l ==

[P.T.O.



In experimental research, the data
collected by the researcher are the :

(A) Primary variable

(B) Secondary variable
(C) Independent variable
(D) Dependent variable

Which of the following is a correct
order of steps in test construction ?

(1) Development of norms

(2) Identification of construct

(3) Item analysis

(4) Validity analysis

(5) Test-retest reliability analysis
Codes :

A 2 - @B - 6B)—> 4 - 1)
B) B >4 - 6B =2 -0
C) 2 —->B)—>B -1 —->“
M 1) -2 - @B -4 — (5

Approaches to perception that
involve direct reception of

information from environment are
called :

(A) Constructivist approaches
(B) Computational approaches
(C) Ecological approaches

(D) Feature analytical approaches

JAN - 13218/II—B
YT AENYAT SR UHRE YW
WWQ Medl el A :
(A) gty aREd
(B) 3= uRac
(C) Tad aiEd
(D) sTaqs! e

TITATATRT HIOTA FHHATA ATIIN
foeRTEIdI 0= AT &H <rEfad 2

(1) AcerEr ffHd
(2) Hheur TSN
(3) faum fagersm
(4) Fenedar fergerom

(5) =ETA-gAAf=vH  fazawaiaal

fergeroro
Hehdich :
A) 2) - 3) = (B) =>4 - 1)
B) B =@ —6B) -2 - Q)
C) 2 —»>6B)—> 3 -1 —>@
M 1) -2 -3 =@ — 5

AT AITHTATE  IUTTH, SHI=4Td
gfeRmE S wifed oTfad o d,
3 Gy

(A) TS giehA

(B) Wit gftesmm

(C) URIEerforRiMTcHsh giteehi

(D) gar fagemo gfewd




When reinforcement is contingent
upon number of responses given by

respondent it is :

(1) Fixed interval schedule
(2) Fixed ratio schedule

(3) Variable ratio schedule
(4) Variable interval schedule
Codes :

(A) (2) and (3) only

(B) (3) and (4) only

(C) (1) and (2) only

(D) (1) and (4) only

Information in long-term memory is

primarily stored in :
(A) Sensory form
(B) Semantic form
(C) Acoustic form

(D) Tactile form

JAN - 13218/II—B

oo (alla

TERIT feeted Tiafharen S&er Sie]

JeIGTeh 0] STaced 3T el O

(1) Tt s
(2) TeeR TUIRR ST=h
(3) uRadt IR ST

(4) ARETHE HIAR ST
Hehdich :

(A) el (2) 2o (3)

(B) WeRt (3) 30T (4)

(C) w (1) o (2)

(D) e (1) 7T (4)

QTEeRTIoTeh ST Hfed! Y@M SIee

e Hiefael Sd
(A) =&

(B) FIw

(C) wfieh

(D) st

[P.T.O.



10.

The wrong representation can
hinder your ability to solve a
problem, especially if you become
stuck on that one interpretation.

This barrier is called :

(A) The representational problem
(B) Algorithm interference

(C) A blocked solution path

(D) Functional fixedness

Selection of moderately challenging
tasks characterized the behaviour of

people who have :

(A) Fear of failing

(B) High need for achievement
(C) Fear of success

(D) Low need for achievement

DIQ is a measure of :

(A) Deviation 1in personality
disorder

(B) Deviation in intelligence
disorder

(C) Intelligence in standard scores

(D) Intelligence in the form of

ratio 1.Q.

10.
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qEE Hiefauarsl qH= &Hdr gehrea
gfaffeemges st 2 eehd, oo
TET fITeoT T Tt 7% Bl
Al ASYSIH U

(A) wifaffees Twe
(B) TFNNGH TSl
(C) 3Te¥es UfgR AT

(D) wEfcHs TaaRegd

1 FETHES WAl Seeh 379!, <
Il AEAH HIfSuAr & Hasuass
A :

(A) STqzRTET it
(B) HURATE] Yehoid TR
(C) IQm= it

(D) HURATET HHT TS

SLAEAL ¢ A= AU AR

(o)

(A) At fapdidia

ENE

(B) <ifgw fagdmeia fauem

(C) fo=em Tondiel A= A

(D) T FEAThRIA FiGHTd AT




11.

12.

13.

In a phantom hand experience there
is a :

(A)
(B)
©)

Visual and auditory mismatch
Visual and tactile mismatch

Proprioceptive and auditory
mismatch

(D)

Visual and proprioceptive
mismatch

Stimulus similar to original CS will
elicit similar response is called :

(A) Generalization
(B) Discrimination
(C) Shaping

(D) Substitution

Concepts are learned through
psychological processes. That are :

(1) generalisation
(2) classification

(3) categorization
(4) discrimination

Select the correct option from the
codes given below :

(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (4) only
(D) (3) and (4) only

11.

12.

13.
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A9 B B WA
(A) TH-9TF YT ST AT
(B) Toh-¥0%1 STYe SFIEU THA

(C) SFaifsare o #eume 3fqve e
A

(D) T 9 SFAifsar THd &Y
AT

ez AfYEferd IEahell ¥ T8l
SEUsh M Ufdfehran ST id el
BOIdld ¢

(A) |

(B) HEHRLO

(C) 3T

(D) gfaEATH

AHEYETE Gihdr=a STER WeheuHl
¥Tehean SA@. N SR

(1) SR

(2) afieRYor

(3) HarteRLol

(4) HEHTHL

Tt fgdedar godem g Ity
faer

(A) (1) =7for (3) we
(B) (2) v (3) e
(C) (1) 3for (4) e
(D) (3) U (4) e

[P.T.O.



14.

15.

16.

Which of the following monitors the

internal states of the body ?
(A) Drive

(B) Homeostasis

(C) Hemoglobin

(D) Needs

Spearman’s two-factor theory defines

intelligence as :
(A) Composed of multiple abilities
(B) A global, unitary ability

(C) Composed of 120 unique

combinations
(D) A set of primary abilities

A person is asked to respond to
vague/ambiguous stimuli when

taking a :

(A) Pencil and paper test
(B) Projective test

(C) Personality inventory

(D) Behavioural assessment

14.

15.

16.
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AT STTdier  UiEerds STeiels
TIATUh! hIUG 3TRd ?

(A) WA
(B) wHfEerdt
(C) THmelsH
(D) TRST

N A

Toger=n fg-oesh FagiaaR gfgw

ALl ¢
*

(A) =gfag &war fHegd aeie]

(B) df¥aer/Smifdes Teheh! &THdT

(C) 120 Afgdra weehr=t e seiean

e
(D) WAt ardr=n H=
SR Segl  STeuse/Hfere SEIdeR
TR STATE WA S <ea] aTaX shell
ST

(A) TR enfor ufger ==
(B) 9&qur =r=of
(C) HAfFH™ TR

(D) SR AT




17. A researcher tries to make sure that

18.

(Types of Norms)
(P) Age Norms (1)

Q

(R)

(S)

subjects in the experimental and
control groups are very similar to
each other in order to reduce the
effects of :

(A) Extraneous variable
(B) Random variable

(C) Dependent variable

(D) Independent variable

Match Column-I with Column-II by
using the codes given below :

Column-I Column-II
(Features)
Scores are

expressed in

SD units
Percentile (2) Sequential
Norms formation of
concepts and
motor skills
Ordinal Norms (3) Mental
development
Standard Score (4) Unequal
Norms units of
measurement
Codes :
P) Q @R )

Aa 3 @ @ @
B 2 1 @ @
© @O @ @ 3
D @ & QO @

17.

18.

(Q) vaRM™ #AFee  (2)

(AES™ Yah)
(P) o9 AIRS (1)
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SHIECAS SRS SRR P CEDR IR C)
ERERELRIC ket i c R SR G| Gl
EhME TRUMH HHIdRAT B8l

(A) @ aRac
(B) Ao 9Recd
(C) Tactst aReed
(D) T e

WY-1 =1 WY-II I SIed] @t
HehalshTeal STMER el ¢

wWe-11
(Sf¥Te=)

T e
S[ZehTd ATTeh
ENIEGESIGIG]

Hehogar 3o

wWY-1

T hIgTeaT

FHHAR A
(R) HHAE® AMGE  (3) WHfae fasm
(S) vwIfod W<iish  (4) WAWIA
HGS ST WH
Hehdieh :
P @ R )

@a 3 @ @ @
B 2 1 & @
© Q1 @ @ 3
M @ 3 @O @

[P.T.O.



19.

20.

Fill in the correct numbers in the
blanks, from the choices given

below :

There are segments in

the human spinal cord : .....................

cervical, ...............o.ll thoracic,
..................... lumbar, ........cc...........
sacral & ........ceeueennenn. coccygeal.
(A) 35 :10, 10, 12, 1, 2

(B) 31 :8,12,5,5,1

(C) 30 :10, 10,7, 1, 2

(D) 33 :9, 11,6, 4, 3

Gibson’s theory of direct perception

implies that :
(1)

Perception is used to adapt to

environment

(2)

Perception is used to control

action

3)

When observer moves, optic
array changes

4)

Sensory systems are perceptual
systems

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only
(D) (1), (2), (3) and (4)

19.

20.
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Eeitel garEmYd e, Jr st e
S U :

: 10, 10, 12, 1, 2
: 8,12, 5,5, 1
: 10, 10, 7, 1, 2
D) 33 :9, 11, 6, 4, 3

i = 9 Hagqrn faga s™
I

(D

HoGAE TR qREemR Jeoqd
YIS shedl STl

FwagArar v feAar fAdw
SATUTUATS] shell STl

fréterer Bordl, degl g% feRaCE
EGH|

defeh T &1 Taga=A TLEAT
AYdrd

Hehdih :

(A) He (1) 7T (2)
(B) e (1) TfUT (3)
(C) K (1), (2) =7for (3)
D) (1), (2), (3) 3701 (4)

(2)

3)

(4)

10



21.

22.

When an operant response is
built by method of successive

approximation it is called :
(A) Higher order conditioning
(B) Reinforcement

(C) Shaping

(D) Generalization

model of memory

proposes physical, acoustic and

semantic parts.

(A) Structural model
(B) Connectionist model
(C) Processing model

(D) Non-declarative model

21.
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el fiohed UgdigR Siegl AT
Ffvger Tenfuqd s S0 @l

UG
(A) =3 sforw SIfvEYH
(B) Wercilehtol

(C) e

(D) WTHTERTO

qfqer, sl 2T TR YR Area
3R

(A) TTATCHS TT&Y9

(B) STIAHE® UTEY

(C) 9fehaa ey

(D) A-ENTUMcHR Y&y

23. The activated portion of long-term | 23. TTEfwTfaA wdrdta |fea wmma
memory is called : RO :
(A) Declarative memory (A) HoOTCHS St
(B) Working memory (B) hifdeh @ﬂ?ﬁ
(C) Sensory memory (C) o St
(D) Procedural memory (D) ufsrarcHe T
11 [P.T.O.



24. In attempting to find and purchase

25.

high-quality cosmetics, Hema

reminds herself that most expensive
brands are the best. Hema’s self-

reminder illustrates the use of :

(A) An algorithm

(B) A heuristic

(C) The farming effects

(D) Functional fixedness

A substance that can act directly
on brain receptors to stimulate

thirst is :

(A) Angiotensin

(B) Endorphin

(C) Lipoprotein

(D) Acetylcholine

JAN - 13218/II—B

24, ST Gicd LA MY U7 o

25.

T BET OIS, §H1 el A3

T ! 3T HENTE! Sieq & ANTell 3Ted.

U T ol T8I0l U™ 3ETed0l gl

ERRIR T

(A) SFAREH
(B) et

(C) = 9ftomm

(D) FHEfaeEReGd

TG TR 92 IR hed ol Seiad

HE IFHUR TS
(A) Tftefefa
(B) T=ffthd

(C) ARIgRN

(D) THIFIARIAT

12
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26. Galton attempted to measure | 26, TeeTd FfgATUT AU YTATHRIGR]
intelligence in order to demonstrate FIUTET YIS el @ TR g &
that intelligence was determined Freifer 2
by :

A .
(A) Heredity (&)
(B) Experience (B) sigwd
(C) Neither heredity nor experience (C) ST AYST TS TRl el
(D) Both heredity and experience (D) aﬁa’s{ ST STHT MBS

27. Which of the following test is most | 97 @rcficiies! ShIvd IO A= TTONST

similar to Rorschach ? e e ?

(A) TAT (A) FHIER THAGA A=

(B) 16 PF (B) 16 Hfere<a ©eeh

(C) TMAS (C) o T el w&hd
(D) MMPI (D) el Afeaaa sSgyEEen g

28. Which of the following is not a 28, Wefel HUET Tgdl & auig R
descriptive/correlational research et e i
method ?

(A) Fegm
(A) Survey
: (B) w&m
(B) Experiment
(C) Case Study (C) =K
(D) Naturalistic Observation (D) fremiesr fterm
13 [P.T.O.



29.

(P) Guilford

Match Column-I with Column-II
and give your answer with the help

of codes given below :

Column-I

(Psychologist)

(Q) Cattell

(R) Wechsler

(S) Binet

30.

Codes :

P)
A D
B) )
©) @)
D) (2)

Q)
(2)
(4)
(3)
(1)

(R)
3)
(1)
(2)
4)

(1)

(2)

3)

4)

(S)

(4)

(2)

(1)
3)

Column-II
(Terms/
Concepts)
Measure of
‘e’ factor
Performance
factor

Fluid
intelligence
Content and

operations

The following is not a structure

included in the meninges :

(A) Mastoid process

(B) Piamater

(C) Arachnoid membrane

(D) Duramater

JAN - 13218/II—B

29. WY-I o7fo7 TWY-II AN SireaT ran

9 Wil Hehdrea ER SO 91 ¢

wY-I

(AT EITTEH)

(P) frowE

(Q whed
(R) ¥R
(S) fem

- -
.
-

P)
A D
B) 3
C) @)
D) (2)

Q)
(2)
(4)
(3)
(1)

(1)

(2)
3)
4)

R) S
3 @
1) (@)
2 @
4) 3

-1
(HereaT/
afyTee)
S-SR
GIEE|

fRads weh
s gfgr
SR
Sl Hfsha

30. © HR<TShHIENONde T ATEl ¢

(A) T=EEFE 99g

(B) Hg A0

(C) SIeT AT

(D) §&@ AT

14



31.

32.

33.

Aguesia is the inability to

recognize :

(A) Tastes

(B) Colours

(C) Odors

(D) Shapes

that

Two-factor theory, is a

combination of classical conditioning
and operant conditioning, is one of

the explanations of :
(A) Generalization

(B) Discrimination

(C) Shaping

(D) Avoidance learning

Memory disruption that occurs due
to information presented after the
material that is to be remembered

is known as :

(A) Positive transfer
(B) Negative transfer
(C) Zero transfer

(D) Retroactive interference

32.

33.

JAN - 13218/II—B

(A) =d
(B) T
(C) 7™

(D) 3R

fgeresh SUUR S STysid TR e e
T SRR ST THad 318 o

TISEh0] A :

(A) HH=ITRTOT
(B) Htenom
(C) SAThIOT=
(D) ST

St ATfEdt TGRS SaTIer gat o
oifgdrea A oo @fe
AT vl UM ¢

s Tt

(A) &9 TRy
(B) 3BU HhHT
(C) I HHhAU

(D) gaaal =

15

[P.T.O.



34.

35.

A common logical error that people
make is to seek information that
supports their ideas rather than
evidence that would invalidate those
ideas. This is known as :

(A) Deductive reasoning

(B) The confirmatory bias

(C) Affirming the consequent
(D) Affirming the antecedent
Which part of the brain is
responsible for biologically driven

motivational processes ?

(A) Thalamus

(B) Hippocampus

(C) Limbic system

(D) Hypothalmus

JAN - 13218/II—B

34. THh YT dhSIS TGl &I, Al

35.

qEATUEST AT hedHl T3aes QU=

TS

ATfedT™ Fehetd I SaTes T HedHl

e STad. O WA

(A) TR eRigAM
(B) TIHINCcH qeiue
(C) Brepruedl wftom

(D) Bl gaadi

~ N~ o ~ ~
Ho ™l eh[Ydl HAT SI[eeh AT JHTedd Yieh

qfgharehidl STeeeR 319l ?

(A) IdI&H

(B) ST¥aH™

(C) o Tzen

(D) TETTATETR

16



36. Match Column-I and Column-II by

using the codes given below :

Column-I Column-II
(Psychologists) (Concepts/
Scales)

(P) Cattell (1) Masculinity
(Q) Hathaway & (2) Intelligence
McKinley Quotient

(R) Holland (3) Mental
ability
(S) Binet (4) Enterprising
Codes :

P Q ® ©)
A @ & @ @
B 2 @ @O O3
© o @ @ @
D 3 O @ @
37. The ego attempts to mediate

demands of id in relation to real

work according to :

(A) The pleasure principle

(B) The reality principle

(C) The primary process principle

(D) Both (A) and (C) are correct

JAN - 13218/II—B

36. WY-I 30T TY-I1 = Sied1 ol 9

qeid Hehareal STER I AT :

wWY-1 wWY-11
(ATTHITE) (FehReuT/
TTuY)
(P) = (1) gEu-T=9E
Q ww-HETE (2 o
(R) @lcl~s (3) HHEh &l
(S) fom (4) @
Hehdieh :

P Q@ B O
A @ 3 @ @
B 2 @ O 3
© O @ @ @

M 3 @O @ @

37. IS OTKdd NN Fefed AU 318
HegEefihed HeaudrEl YIe AT{ER
EXGI

(A) g@ T
(B) dra awd

(C) HAYd Uishal o<
(D) (A) 0T (C) ® Q= &R

[P.T.O.



38.

39.

(P)

(Q

(R)

(S)

Which of the following data
collection technique is not well suited
for studying attitude ?

(A) Questionnaire

(B) Direct observation

(C) Psychological tests

(D) Physiological recordings
Match List-I with List-II and select

the correct answer by using the

codes given below :

List-I List-II
Summated (1) Osgood
rating scale
Successive (2) Stephenson
intervals
method
Semantic (3) Likert
differential
Q-sort (4) Thurston
Codes :

P @ @R )
A 8 @ @O @)
B 3 1 @ @
© @ @ @O O
M 1 B @ @

38.

39.

P)

Q

(R)

(S)

JAN - 13218/II—B

SIfERI ATIATETS! ®Ieflal hiod T

I 3 ?

(A) WA

(B) ae figm

(C) HAFERITET =reo]
(D) TRife TwifEn

-1 eAfor ai-11 argefer sireen e
9 Yeid Hehdredl SER A ST Al

Trer-1 -1
HHTRa (1) saTe
EHEECRE R il
et e (2) fewed
Rl
FI faudt a5 (3) HRS
Q- (4) o=A
Hehdich :

P) Q @R S
A QG @ @O @
B B 1 @ @
© @ @ @O O
D @O 3 @ @
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40. Match List-I with List-IT and select

JAN - 13218/II—B

40. -1 9 I-11 ATdiel SiedT aren 3o
the correct answer by using the "~ Ce
: . Tl fqeiedl HehdishMEH I I
codes given below :
List-I List-II AUk
Types of Modality -1 -1
Cutaneous Best = e grarasett
Receptors Handled A
(P) Pacinian (1) Pressure
(P) Uit whftreht 1) <=
corpuscle
(@ Ruffini ending (2) Pain and (Q T®H! oI (2) ST 9 q9EH
temperature | (R) H&d A (3) w3l
(R) Merkel ending (3) Touch S) T m FE @)
(S) Free nerve (4) Vibration o
, Hehdich :
ending
Codes : P) Q@ [®) (5
P) Q @R ) A1 @D @ G
B @ 3 @O @ © W D G @
< @ 1 3 @
D) 3) (2) @) 1) M B) 2 @ @
41. Divided attention tasks require | 41. 38N fausH ®HEfwed sHxiche @
the subject to : UL AAd
(A) Respond quickly to one among (A) STAHTIHT THT LR ]
many stimuli LIS ER I
(B) Attend to multiple stimuli (B) 3eh SEURIHS I higd HIOl
(C) Search for missing features (C) THIAT H'@TPI e
(D) Concentrate on the task (D) MR AL <higd Hol
19 [P.T.O.



42.

43.

44.

In a variable ratio schedule :

(A) Brief pause in response occurs
immediately after reinforce-

ment

(B) Negligible responding immedi-

ately after reinforcement

(C) Rapid stable rate maintained

between reinforcements

(D) Generally lower rate of respond-
ing
The capacity of short-term memory

is assumed to be :

(A) 10 = 2
(B) 5 =2
(C) 6 =2
D) 7+ 2

Which of the following is not a

theory of reasoning ?
(A) Mental models
(B) Mental logic

(C) Prospect theory

(D) Probabilistic approach

42.

43.

44.

JAN - 13218/11—B
qRed ORI .

(A) gfafwaa < afores fasmda

(B) USRI ol 0 gfafeman

(C) S YocAshiomq s Soig 3T gad
yfafsear=n s

oo

(D) USRI TTHI:  Gfafenaen

I a7

TeehTicTeh  Tcie &0l ©ITeTedshi
| A
(A) 10 = 2

B) 5+ 2

I+

(C) 6 =2

I+

D) 72

ECATeTieh! hioTdl FHgTd &1 TeRigHTT=n
fagia w2

(A) HHfEsh 9wy

(B) 9Hfe &

(C) wree fagi

(D) G gieshs
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45. Pancreas releases the following | 45. 3R oE A UAfhaE T <9
chemical during and just after a foRfaa @
meal : A)
(A) Insulin
(B) TeE&hIfSH
(B) Glycogen
(C) Pepsin ©)
(D) Glucagon (D) Tefhmr
46. Match List-I with List-IT and select | 46. ZRI-I ST AGI-IT FT== SiIe1 A 0T
the correct answer by using the N T frde SR STER A
codes given below :
ST ¢
List-I List-II
(Theorists) (Concepts) RIER! -1
(P) Sternberg (1) Convergent (fagiderr) (HheanT)
thinking P) - 1) gt
(Q) Cattell (2) Performance
intelligence (Q) Hed (2) THa SffgH
(R) Guilford (3) Contextual | (R) faie 3) " gfgmm
intelligence (S) TR (4) THfw ghgea
(S) Wechsler (4) Crystalized i
intelligence
Codes : P) @ [® )
P) Q@ @R () A 3 @ 1) @)
B @ @ @ ® @ @ @ O
B 2 3 @ @
<o @O 2 B8 @
© 1 2 G @
D @ 1O 22 @3 D @ @O @2
21 [P.T.O.



47.

48.

When a test ‘appears’ to measure
what it is supposed to measure,

then it has :

(A) Face validity

(B) Split-half validity
(C) Construct validity
(D) Concurrent validity

Which of the following is the
best example of an operational

definition ?

(A) Hypotheses are educated
guesses that can be confirmed

or rejected by evidence

(B) Class participation is the
number of times a student

raises his or her hand in class

(C) Cognitive processes include

perception, remembering,

problem solving and

understanding.

(D) Reading ability can be used to
predict success in introductory

psychology classes

47.

48.

JAN - 13218/II—B

> 4

Siegl TEMIT ATavigR aiahon’ <
Hege a9 < IEoigR "t Sd §

TRl STHd degl df =AMl
(A) ST el

(B) 3tei-fores Femeda

(C) Maa Fenefan

(D) weedi e

el R0 de HehIITcHsh  SATEa

gaid =Nl SeTedul A 2

(A) FEH & Th ==l rEd St
AT YR 7 el 79
B

fomneff fodt 9o g@ X wAl

e A e HeHITHI

(B)

TS A Jal

(C) siremcqess Wiepdmed gagd, T,

gAe TR 9 geS[ g

T Al

dldn ?»:IH(:IOI(C\“I EIRICE R e
TMEATSAT e e e

H I

(D)
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49.

50.

Item analysis of an aptitude test
could be performed by using :

(1) Alpha coefficient

(2) Item discrimination index
(3) Item difficulty level

(4) KR-20

Select the correct option from the
codes given below :

(A) (1) only

(B) (2) and (3)

(C) (3) and (4)

D) (2), (3) and (4)
The circle of Willis is :

(1) Named after English anatomist
Thomas Willis.

(2) Formed by anterior branches of
internal carotid artery.

(3) Formed by anterior and

posterior communicating artery.

(4) Formed by posterior cerebral

branches of basilar artery.
Codes :
(A) (1) and (2) only
(B) (1) and (3) only
(C) (1), (2) and (3) only
D) (1), (2), (3) and (4)

JAN - 13218/II—B

49. A T faemH-Tawers o siam

Weeueh! el 9T had
(1) 3T FgEag UMk

(2) faum $ga fRw®

(3) faur =wifeva drded

(4) .3R.-20

oo

el feded HaEm I gaiy

(A) ®e (1)

(B) (2) =fr (3)
(C) (3) 37T (4)
D) (2), (3) =for (4)

50. oo 31 fafeq & =

(1) foa THeo sUS Gigs o9fHd

fafeq emee 9

S N O

(2) AR HUfes=

BRG]
(3) 3 9 9¥d Fyuu Afeviiqy s d
(4) Sfaer Afevi=n 9v= weARE a1d
Hehdich :
(A) e (1) Sfor (2)

3T B

(B) Wed (1) 37for (3)
(C) ek (1), (2) 3IfUT (3)
D) (1), (2), (3) fuT (4)

23

[P.T.O.



JAN - 13218/II—B

ROUGH WORK
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